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Guess Paper - 2007
Class X

Mathematics
Time: 3 Hours Max. 








Marks: 80

General Instructions:

1. 
All questions are compulsory.

2. 
The question paper consists of 25 questions divided into three sections A, B and C.

Section A contains 7 questions of 2 marks each; Section B is of 12 questions of 3

marks each and Section C is of 6 questions of 5 marks each.

3. 
There is no overall choice. However, internal choice has been provided in two questions

of two marks each, two questions of three marks each and two questions of five

marks each.

4. 
In question on construction, the drawing should be neat and exactly as per the given measurement.

5. 
Use of calculators is not permitted. However, you may ask for Mathematical tables.

SECTION A

1 Solve the following system of linear equations :62x + 37y = 13, 37x + 62y 112
2 Reduce the following to a rational expression in lowest terms:
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3.      Solve for x : 
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4.       Determine the sum of first 10 terms of an A.P. if its third term is 8 and 11th term is20.

OR   The nth term tn of an A.P. is given by tn = 5 - 2n, Find the sum of first 25 terms of the A.P.
5. 
A room cooler is available for Rs 1500.00 cash payment or for Rs 360.00 cash down
payment followed by three equal monthly installments of Rs 390 each. Find the rate of interest charged under the installments plan.
6.
 
[image: image3]In fig. ST is a tangent to the circle at B. If ABS = 45º and DAB = 50º, find DBA.
7. 
Two coins are tossed simultaneously. Find the probability of getting at most one head.

OR A bag contains 7 red balls, 8 white balls and 5 green balls. A ball is drawn from the bag at random. Find the probability that the drawn ball is not of green colour.

SECTION B

8. 
Solve the following system of linear equations graphically:
x + y = 4, 3x - 2y 3 Shade the region bounded by the lines representing the above equations and x- axis.
9. 
If (x - 1) (x + 2) is the HCF of the polynomials p(x) xxxxa 
qxxxxbxfind the values of a and b.
10. 
If the sum of first five terms of an A.P. is 25 and its second term is 2, find the sum of its

first 25 terms.
11. 
The sum of the squares of two positive integers is 117. If the square of the smaller

number equals four times the larger number, find the integers. OR
A passenger train takes one hour less when its speed is increased by 15 km/hour than

its usual speed for a journey of 300km. Find the usual speed of the train.
12. 
Construct a ABC in which AB = 4cm, C = 60º and the length of altitude from the

vertex C on AB is 3cm. How many such triangles are possible?
13. 
∆ PQR is right angled at P and PM is perpendicular QR. The internal bisector of (MQP meets MP at A and the internal bisector of (MPR meets at B. Prove that AB//PR.
14. 
A person borrowed some money and returned it in three equal annual installments, the rate of interest is 20% per annum, compounded annually. If the annual installment is Rs
21,600, find the sum borrowed.
15. 
Prove that  
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OR Without using trigonometrical tables, evaluate: 
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16. 
A right circular conical vessel of internal radius 15cm and height 27cm is full of

water. This water is poured into a right cylindrical vessel with internal radius 5cm.

Find the height to which the water rises in the cylindrical vessel.
17. 
The following data shows expenditure of a family on different items during a month.                Item            

Rent 

Education 

Food 

Others

Monthly 
Expenditure (in Rs)
2400     
1200                      
2700                900   

Represent the above data by a Pie-chart.
18. 
Find the ratio in which the line joining the points (2, .6) and (8, 4) is divided by x-axis.

Also find the coordinates of the point of division.
19. 
Show that the points (1, 2), (2,0) and (3, .2) are collinear.

SECTION C

20. 
The angle of elevation of the top of a lower at a point on the horizontal line through the

foot of the lower is 45º. After walking a distance of 80m towards the foot of the tower

along the same horizontal line, the angle of elevation of the top of the tower changes

to 60º. Find the height of the tower. OR

If the angle of the elevation of a cloud from a point ‘h’ meters above a lake is ‘α’ and the angle of depression of its reflection in the lake is ‘β’. Prove that the distance of the cloud from the point of the observation is 2hsecα/tanβ – tanα.
21. Mrs. Krishena Kapur has an annual income of Rs 3,90,000 (exclusive of HRA). She   contributes Rs. 8,000 per month in her GPF account and pays Rs 5,000 per annum as LIC premium. She donates Rs 12,000 to National Defence Fund (100% exemption). If she has been paying Rs 2,600 per month as income tax for the first 11 months of the year, find her tax liability for the last month of the year. Use the following for calculating income tax:
The rates of income tax for Women Employees are as under :

Slab 





Rate of Tax

1. Taxable income upto Rs.1,35,000



NIL

2. Taxable income from Rs.1,35001 - Rs. 1,50,000

10% of the amount by which

taxable income exceeds Rs.

1,35,000.

3. Taxable income from Rs.1,50,001 - Rs. 250,000

Rs. 1500 + 20% of the amount

by which taxable income

exceeds Rs. 1,50,000

4. Taxable income above Rs.2,50,000


Rs. 21500 + 30% of the

amount by which taxable income exceeds Rs. 250,000

5. Surcharge 10% of the amount of tax payable if the taxable income exceeds Rs. 1000,000

6. Education Cess 2% of the amount of tax payable.

22. 

	EXPENDITURE (RS)
	100–150
	150–200
	200–250
	250–300
	300–350
	350–400
	400–450
	450–500

	FREQUENCY
	244
	400
	333
	288
	300
	222
	166
	077


23. 
A right triangle whose sides are 15cm and 20cm, is made to revolve about its

hypotenuse. Find the volume and surface area of the double cone so formed [Use = 3.14 ]
24. 
Prove that the angle subtended by an arc at the centre is double the angle subtended by it

at any point on the remaining part of the circle. Use it to prove that the angle formed by a chord in the major segment is acute. OR If two circles touch each other externally, then prove that their point of contact lies on the line joining their centers. 

25. 
In the fig. Prove that feet of the perpendicular drawn from point on the circumcircle of a ∆ 
to its sides are Collinear. [image: image1.wmf]3
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 Or A toy has hemispherical base, cylindrical middle portion & conical top. The radius of hemisphere, cone & cylinder and height of all three portions are equal. If no. of units in the volume of toy is same as the no. of units in its surface area, find total height of the toy.
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